CHM 151 Quiz 1a 25Pts Fall2010 Name: j’(*—;}/

Show All Work To Receive Credit!  Conversion factors and prefixes:

G=10%,M=10%k=103,c=102, m=103, 0 =106, n = 10°, 2.54 cm = 1 in,
12 in =1 ft, 5280 ft = 1 mile, 3 feet =1 vd, 60 sec =1 min, 1 hr = 60 min, 4 quarts =1 gal, 2 pints =1 quart

1. (6 Pts) Perform each of the following conversions. You must show the complete setup.

4
a. Convert 88 pg to ng. 93,“ _;z/c_l._;%:’ _ 3883 X/O3 n;'@ g.8 Xlo ”ﬂ

3 4
b. Convert 85 mL to uL. gs’é)\l }0_3JM - gS—X/OML or S SX0 anl
] ]/o"

2. (4 Pts) Assume each of following numbers are measurements. Perform the indicated operations
and then report the answer with the proper number of significant figures.

§2.37Cm
a. 12.145cm + 15.1265cm ~ 25.12cm = 5&,3_?' i cm
L[.[mfh/ % 0.0/ P/AC-{

3 §/] F’jr
b. 1025 cm x 2.10 em x 10.145 cm = 218 o’

3. (5 Pts) A poster measures 22 inches by 44 inches. Determine its area in square cm (cm?) (you

may ignore significant figures). A _
(You may ignore significant figures) /Qf = L - &/

/y‘(! ’7”

.

4. (5 Pts) How many kilo-inches are in 7 mlles (You may ignore significant figures)?

7‘""(};50;{/5;?% = 993,52 B i

5. (5Pts) A sample of silver ore was found to contain 0.86 % silver by mass. How many mg of
silver can be recovered 800.0 kg of ore?

Q00. ng 01(6,‘ OALM J 08¢ o= 6§8X/DGM}A}

)/)( / [07%| 100 grE




CHM 151 Quiz 1b 25Pts Fall2010 Name: K%}

Show All Work To Receive Credit! ~ Conversion factors and prefixes:

G=10%,M=100,k=103,c=10"2,m=10"3, 1 =106, 0 = 10” , 2.54 cm =1 in,
12 in =1 ft, 5280 ft = 1 mile, 3 feet = 1 yd, 60 sec =1 min, 1 hr = 60 min, 4 quarts = 1 gal, 2 pints =1 quart

1. (6 Pts) Perform each of the following conversions. You must show the complete setup.

a. Convert 327 nL to mL. 329 AL I 10'7/ o _ 327)(/0—50’1_ 3,1-7X/0%L
I e
-3 2 <
b. Convert 805 mg to pg. S’OS/Q l |6 / MM = 005 X /o JL go05 x|o ,u._;
“Tox | o€

2. (4 Pts) Assume each of following numbers are measurements. Perform the indicated operations
and then report the answer with the proper number of significant figures.

a. 13.14cm + 12526 cm + 0.052cm = Q.S, 7 .’,L om
L Limted +o 0.blplace

b. 1.2cmx 6.12cmx12.145cm = CS> 7 cm’
Llimiecd t 2 sy By

3. (5 Pts) A poster measures 33 inches by 45 inches. Determine its area in square cm (cm?).
(You may ignore significant figures)

334|250 em 455 A5 = 926 ) on
I

4. (5 Pts) How many inches are in 0.5 kilo-miles (You may ignore significant figures)?

Ogj(/y(l 5?6’0/:/7() /Q\L}n} /03 - 3[@90000:3')43)(107,@
| [im& T ef T K ;o

5. (5Pts) A sample of silver ore was found to contain 0.086 % silver by mass. How many mg of
silver can be recovered 500.0 kg of ore?

so0.0 Ky gre| 18] o) 8:996 Ay 430000 my A
)Vl 0% | Jooore N

4,3 x losmg A}




